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1, (a) Find the sadius of cm./@r;@/m'e of the pover sevies
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(A) Find e Limd funclion fx), (£7)
(b) Does Zhe W@ /If(x)o/x—,&/'m //j,(x}z/;c A

wt Roaemann MW Y ZW MW ¢o7)
LC—). Does [fn}— f converge. Mb'f”mly on [0, /J’“’%’?
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Q) Show that M = (d,+Q;.) W . (15 %)

b) Show that v&fhe}- W ia identically jero or else mever
(5%

Jonishea over L.

8. (1) Comglruct the Greeule fumcion for the differentiad
effﬂa)“""l g"-r Y =o with the boundary coudifious |

lg(o) = Y=o

(15% )

1) Fiud ~ formula for a apar{’"cMIM nolution of

kj".f Y= 4O, Yor= Y=o, ok o<t <l (£%)




